ROZDZIAL 2

LICZBY RZECZYWISTE

ZADANIA
Zadanie 2.1. Oblicz:
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Zadanie 2.2. Rozwiaz réwnanie:
(a) 25779 = 4773, (c) 47 —9-2"4+8=0;
(b) 372 — 3% = 72; (d) 100* —9-10* — 10 = 0.
Zadanie 2.3. Rozwigz nierownos¢:
(a) 2% < 32; (c) 27+ < 477,
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Zadanie 2.4. Oblicz:
(a) log, 16 (d) log, 9
(b) logyr 3; (e) 2'o82%;

(c) log 52 (f) 49'er2,



Zadanie 2.5. Oblicz:

(a) logs 45 — logs 5;

log, 154 .
log, 3 + log, 5’

(b)
Zadanie 2.6. Rozwigz réwnanie:
(a) loga(z — 5) = 2;
(b) logyg + logyo(z + 1) = logy( 2;
Zadanie 2.7. Rozwiaz nierownosc:
(a) logy(z +1) > 3
(b) logs(2z — 6) < —4;
Zadanie 2.8. Rozwiaz réwnanie:
(a) [z —3| =1
(b) |z +4] =9;

Zadanie 2.9. Rozwigz nierownos¢:

logs 2 — ——:
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() log, V3

(c) 5loggx — 2logyx = 12;

(d) logs(z? — 1) —logs(z + 1) = 1.

(c) logy(a? +1) > 1;

(d) log ( — 1) + log%(x +1)>0.

(¢) 4 + |z — 6| =9;

(d) z+ |z —3|=3.

(a) |z —5] <2 (c) |z —=3[>1;
(b) |z + 6| > 3; (d) |22 - 1] < 3.
ODPOWIEDZI

Zadanie 2.1. (a) z'3; (b) yz~2; (¢) zyPu~'w™3; (d) a®bd~".
Zadanie 2.2. (a) z=1; (b)z=2; (c) z=0lub z = 3; (d) z = 1.
Zadanie 2.3. (a) z € (—00,5); (b) z € [1,+00); (¢) x € (—o0, —1) U (3, 400); (d) z € (—o0,0).
Zadanie 2.4. (a) 4; (b) 3; () 2; (d) —2; (e) 32; (f) 4.
Zadanie 2.5. (a) 2; (b) 4; (c) 0; (d) 0
Zadanie 2.6. (a) z = 14; (b) z = 1; (¢c) 2 = 27; (d) = = 6.
Zadanie 2.7. (a) x € (7,+00); (b) z € [11,+00); (¢) z € (=00, —1) U (1, +00); (d) = € (1,V/2].
Zadanie 2.8. (a) z =4 lubz=2; (b)z =51lubz = —13; (c) z = 1; (d) z € (00, 3].
Zadanie 2.9. (a) z € (3,7); (b) 2 € (00, —9] U [-3,400); (¢) = € (—00,2) U (4, +00);

(d) = € [~2,2].



